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INTEEER (£ - BAROBT)
st A% LA RN 5 bR WEAE [R50 Ezﬁtﬂ
TEEE] oy [ owsr | ok [ omes [ owsk [ L ome sk [aro ] ® -
E | 1,951 134 44 178 131 45 176 97.8( 102.3 98.9 98.8 0.1
= E 230 124 32 156 122 33 155 98.4( 103.1 99.4 100. 0 -0.6
T #| 1,000 422 366 788 419 366 785 99.3| 100.0 99.6 99. 6 0.0
[i&] ES 216 67 33 100 64 35 99 95.5( 106.1 99.0 100. 0 -1.0
7K PE 40 26 10 36 26 10 36 100. 0| 100.0| 100.0 100.0 0.0
Ed i 3 0 0 0 0 0 0 - - - 100. 0 -
EF B 6 1 0 1 1 0 1 100. 0 -| 100.0 - -
i H 21 0 0 0 0 0 0 - - - 100. 0 -
& Fal 3 0 0 0 0 0 0 - - - 100. 0 -
- D Ath 137 2 0 2 2 0 2 100. 0 -| 100.0 100. 0 0.0
i = 268 98 28 126 96 29 125 98.0( 103.6 99. 2 99.2 0.0
Gt (a) 3, 875 874 513 | 1,387 861 518 | 1,379 98.5 101.0 99. 4 99. 6 -0.2
FEE R (b) 3, 968 929 495 | 1,424 923 495 | 1,418 99.4( 100.0 99.6
WEAR R LE (a) - (b) -93 -55 18 -37 -62 23 -39 -0.9 1.0 -0.2
ANMFEER (£ - BAROLT)
sere A R R bk W 45 [ 341 ﬁﬁtﬁ
TRAR] wpy | owsk | onar [ owme | oms o L me [ e [arw | B i
i | 1,893 70 29 99 70 28 98 100. 0 96. 6 99.0 98.2 0.8
=3 ES 218 78 18 96 76 19 95 97.4| 105.6 99.0 99.0 0.0
T ES 122 56 34 90 55 35 90 98.2( 102.9( 100.0 100. 0 0.0
[i&] ES 567 180 47 227 183 42 225 101. 7 89.4 99.1 100. 0 -0.9
7K PE 4 3 0 3 3 0 3| 100.0 -| 100.0 - -
£ T 85 8 0 8 8 0 8 100. 0 -| 100.0 100. 0 0.0
H Fi 17 0 2 2 0 2 2 -| 100.0] 100.0 100.0 0.0
1 R 17 2 1 3 3 0 3 150.0 0.0 100.0 100.0 0.0
& ik 5 0 1 1 0 1 1 -| 100.0] 100.0 100.0 0.0
) 1 182 10 3 13 11 2 13 110.0 66.7( 100.0 100.0 0.0
W & 442 121 25 146 120 26 146 99.2( 104.0( 100.0 100.0 0.0
G5t (a) 3, 552 528 160 688 529 155 684 100. 2 96. 9 99.4 99.6 0.2
FEE R (b) 3, 686 552 136 688 548 137 685 99.3( 100.7 99. 6
WEAR [ 1 b (a) = (b) -134 -24 24 0 -19 18 -1 0.9 -3.8 0.2
NSIEEEK (£ BAHOB+%K)
sere A% R RN E 5 bk 45 [ 341 EE;/ET
TRER] wpy | owsk | onat [ e | |t me [ msk (A | ® [ w-p)
& biEi] 3, 844 204 73 277 201 73 274 98.5] 100.0 98.9 98.6 0.3
=3 ES 448 202 50 252 198 52 250 98.0] 104.0 99.2 99.6 -0.4
T ES 1,122 478 400 878 474 401 875 99.2] 100.3 99.7 99.7 0.0
[ik3) ES 783 247 80 327 247 7 324 100. 0 96. 3 99.1 100.0 -0.9
7K E 44 29 10 39 29 10 39 100. 0| 100.0| 100.0 100.0 0.0
% fiE 88 8 0 8 8 0 8 100. 0 -| 100.0 100.0 0.0
E o 23 1 2 3 1 2 3 100. 0| 100.0| 100.0 100.0 0.0
& R 38 2 1 3 3 0 3 150. 0 0.0 100.0 100.0 0.0
o ik 8 0 1 1 0 1 1 —-| 100.0| 100.0 100.0 0.0
) 1t 319 12 3 15 13 2 15 108. 3 66.7| 100.0 100.0 0.0
w & 710 219 53 272 216 55 271 98.6| 103.8 99. 6 99.7 -0.1
it (a) 7,427 | 1,402 673 | 2,075 | 1,390 673 | 2,063 99.1| 100.0[ 99.4 99.6 -0.2
WEAE R (b) 7,654 | 1,481 631 | 2,112 | 1,471 632 | 2,103 99. 3| 100.2 99. 6
AR YT (a) - (b) -227 =79 42 =37 -81 41 -40 0.2 0.2 0.2




